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Chapter 14 Arriving at the Final Price

Multiple Choice

1. How does Tata cut cost of the Nano?

a) By minimizing components, particularly steel 

b) By taking advantage of low production costs in India 

c) Nano is designed to have no-frills interior

d) Nano has a smaller and lighter engine

e) All of the above

Ans: e

Feedback: Tata cuts cost by minimizing components, particularly steel, and taking advantage of low production costs in India. The car is small and uses less sheet metal, has a smaller and lighter engine and smaller tubeless tires, and has a no-frills interior.
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2. In which area is the Nano car manufactured by Tata group competitive? 

a) In its design

b) In cost 

c) In its functions 

d) The Nano is environmental friendly 

e) All of the above 

Ans: b

Feedback: Nano is currently the cheapest car in the world, priced at approximately US$2500. Toyota has commented that it is impossible to get into the price range of the Nano and that the company could not allow Tata to achieve a lead in low-cost car production. 
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3. In which step of the price setting process would a new-product manager be deciding whether to adopt a penetration or a skimming pricing strategy for a new product she is about to introduce to the market?

a) Make special adjustments to the list or quoted price

b) Select an approximate price level

c) Estimate demand and revenue

d) Identify price constraints and objectives

e) Set list or quoted price

Ans: b

Feedback: The decision between skimming and penetration pricing is a demand-based approach, part of step 4 in the price setting process.
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4. In which step of the price setting process would a new-product manager be deciding whether to use a prestige pricing strategy for a new product she is about to introduce to the market?

a) Make special adjustments to the list or quoted price

b) Select an approximate price level

c) Estimate demand and revenue

d) Identify price constraints and objectives

e) Set list or quoted price

Ans: b

Feedback: The prestige pricing strategy decision is a demand-based approach, part of step 4 in the price setting process.
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5. In which step of the price setting process would a new-product manager be considering the company, customer and competitive effects for a new product she is about to introduce to the market?

a) Make special adjustments to the list or quoted price

b) Select an approximate price level

c) Estimate demand and revenue

d) Identify price constraints and objectives

e) Set list or quoted price

Ans: e

Feedback: Considering the company, customer and competitive effects for a new product is done in Step 5, set list or quoted price.
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6. In which step of the price setting process would a new-product manager be deciding whether to use geographical adjustments to the price for a new product she is about to introduce to the market?

a) Make special adjustments to the list or quoted price

b) Select an approximate price level

c) Estimate demand and revenue

d) Identify price constraints and objectives

e) Set list or quoted price

Ans: a

Feedback: Geographical adjustments, allowances and discounts are all done in Step 6, make special adjustments to list or quoted price.
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7. Demand-oriented approaches weigh factors underlying expected __________ more heavily than factors such as cost, profit and competition when selecting a price level.

a) customer tastes and preferences

b) total sales revenue

c) prevailing prices

d) number of others selling the product

e) mark-up

Ans: a

Feedback: Demand-oriented approaches weigh factors underlying expected customer tastes and preferences.
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8. Setting the highest initial price that customers really desiring the product are willing to pay is called __________.

a) skimming pricing

b) penetration pricing

c) price lining

d) odd-even pricing

e) prestige pricing

Ans: a
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9. Skimming pricing is a strategy that introduces a new or innovative product by __________.

a) setting the price 10 percent below its nearest competitor

b) determining if the product is supply inelastic

c) creating a product image that appeals to fiscally-conservative consumers

d) setting a high initial price

e) setting a low initial price

Ans: d
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10. A skimming pricing policy is likely to be most effective when __________.

a) consumers perceive your product to be similar to other products on the market

b) a lower price will have a major effect on reducing unit costs

c) competitors will be attracted to the market due to the potential for high sales revenues

d) consumers tend to be price sensitive

e) a high initial price will not attract competitors

Ans: e

Feedback: A skimming pricing strategy, which entails setting a high initial price is most effective when (1) customers are willing to buy immediately at the high initial price; (2) lowering the price has only a minor effect on increasing sales volume and reducing unit costs; (3) when the high initial prices do not attract competitors; and (4) when customers interpret high price as signifying high quality.
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11. Hallmark was the official supplier of flowers at the last Winter Olympics. It was the first time that it has participated in the Olympics. Hallmark presented each Olympic winner with a special bouquet of roses designed to resemble the Olympic torch. Consumers were able to buy a smaller version of this same bouquet at the Hallmark website for US$74.95. The Olympic bouquet that consumers could buy contains two dozen yellow roses, yet you can buy two dozen yellow roses for less than S$35 at most supermarkets. If Hallmark is treating the Olympic bouquet as an innovative product, then it is using which demand-oriented approach to pricing

a) Bundle pricing

b) Yield management pricing

c) Skimming pricing

d) Target return-on-sales pricing

e) Penetration pricing

Ans: c

Feedback: Skimming pricing is appropriate when there are enough prospective customers who are willing to buy the product immediately at the high price (mostly through the excitement generated by the Olympics), the high initial price will not attract competitors and customers interpret the high price as signifying high quality.
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12. The manufacturer of a DVD-R is thinking of using a skimming pricing strategy for its new product. Which of the following conditions would argue AGAINST using a skimming pricing strategy for the DVD-R disks?

a) Large potential market, even at a high price

b) Technological problems still exist for competitors

c) Increasing volume reduces production costs substantially

d) Consumers perceive a price-quality relationship

e) All of the above

Ans: c

Feedback: Skimming pricing is appropriate when there are enough prospective customers who are willing to buy the product immediately at the high price, the high initial price will not attract competitors and customers interpret the high price as signifying high quality. Choice C would suggest a penetration pricing strategy.
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13. The Apple iPhone was recently introduced at an initial price of US$600. People waited in line overnight so they could be one of the first to own these unique phones. Which pricing strategy did Apple use to help recoup its research and development costs for the phone?

a) Price lining

b) Experience curve pricing

c) Customary pricing

d) Skimming pricing

e) Target pricing

Ans: d

Feedback: The conditions favoring skimming pricing are most likely to exist when a new product is protected by patent or copyright or its uniqueness is understood and appreciated by customers as is the case with the iPhone.
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14. When microwave ovens were in the introduction stage of the product life cycle, some consumers were willing to pay exorbitant prices for the innovative ovens. Taking advantage of this strong consumer desire, marketers set the price for microwave ovens at the highest initial price that customers with a very strong desire for the product were willing to pay. Marketers of microwave ovens were using a __________ pricing strategy.

a) skimming

b) penetration

c) prestige

d) price lining

e) bundle

Ans: a

Feedback: Skimming pricing strategies are used for new, innovative products that are highly sought after by a significant number of customers. Such customers are relatively insensitive to price because of the product's ability to satisfy their needs and wants in relation to alternative products. As initial consumer demand is met, the marketer lowers the price of the product to attract another, more price sensitive segment of the market.
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15. A company that sets a low initial price on a new product to appeal immediately to the mass market is using  __________.

a) skimming pricing

b) penetration pricing

c) price lining

d) odd-even pricing

e) prestige pricing

Ans: b
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16. The exact opposite of skimming pricing is __________.

a) target pricing

b) penetration pricing

c) price lining

d) odd-even pricing

e) prestige pricing

Ans: b
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17. The Wm. Wrigley Jr. Co. recently introduced a new flavor of Orbit brand sugar free chewing gum—mint mojito. The introductory price was low so that it would create loyal customers for the flavor quickly. In this example Wrigley is using __________.

a) skimming pricing

b) penetration pricing

c) price lining

d) odd-even pricing

e) demand-backward pricing

Ans: b

Feedback: Penetration pricing is setting a low initial price on a new product to appeal immediately to the mass market.
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18. Penetration pricing is intended to appeal to which market?

a) Highly selective quality-seeking consumers

b) Price-insensitive markets

c) The mass market

d) Specialty goods markets

e) The same markets as skimming pricing

Ans: c

Feedback: Penetration pricing is setting a low initial price on a new product to appeal immediately to the mass market.
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19. Which of the following statements about penetration pricing is true?

a) Penetration pricing is a profit-oriented approach to pricing

b) Penetration pricing is a cost-based pricing method

c) Penetration pricing encourages competitors to enter a market

d) A penetration pricing strategy is more effective in a marketplace with price-sensitive consumers

e) Because penetration pricing is a high initial-price strategy, it will not attract competitors

Ans: d

Feedback: Penetration pricing is setting a low initial price on a new product to appeal to a mass market, which is price-sensitive.
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20. When Hallmark cards introduced a line of US$.99 cards (about half the price of the previously least expensive cards sold by Hallmark), the greeting card company was trying to appeal to a mass market that was price sensitive. Hallmark was using a __________ pricing strategy.

a) prestige

b) skimming

c) penetration

d) demand-backward

e) experience-curve

Ans: c

Feedback: Penetration pricing is the setting of a low initial price on a new product (inexpensive greeting cards) to appeal immediately to the mass market.
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21. The manufacturer of a new kind of fat-free ice cream that has the consistency and taste of regular ice cream is thinking of using a penetration pricing strategy for its new product. Which of the following conditions would argue AGAINST using a penetration pricing strategy for the tasty fat-free ice cream?

a) The ice cream market is highly conservative

b) A large portion of the market has inelastic demand for ice cream—over a fairly broad range of prices

c) Economies of scale in production are substantial

d) Retailers are not willing to pay for new brands of premium ice cream in the already overcrowded category

e) Once the initial price is set, it is nearly impossible to lower price because of the possibility of alienating early buyers

Ans: b

Feedback: Setting a low initial price on a new product to appeal immediately to the mass market is penetration pricing. Inelastic demand would result in small sales increases due to lower price, in which case a skimming strategy-not a penetration strategy, would be best.

Page: 379

Learning Objective: 1

22. A manufacturer using _________ is setting a high price so that quality- or status-conscious consumers will be attracted to the product and buy it.

a) skimming pricing

b) penetration pricing

c) price lining

d) odd-even pricing

e) prestige pricing

Ans; E

Page: 379

Learning Objective: 1

23. Ralph Lauren sells men and women's clothes. A simple tee shirt with the Ralph Lauren label costs about S$60. If you know you simply want a tee shirt, you can buy one for S$5 at any supermarket, but it won't have the Ralph Lauren’s label or quality. What kind of demand-oriented approach to pricing is being used by this manufacturer?

a) Experience curve pricing

b) Target market share pricing

c) Demand-backward pricing

d) Prestige pricing

e) Flexible pricing

Ans: d

Feedback: Prestige pricing involves setting a high price so that quality- or status-conscious consumers will be attracted to the product and buy it. Ralph Lauren's is obviously hoping to attract that market.
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24. Crocodile offered a five-piece set of crocodile luggage for US$55,000. This is an example of __________ pricing.

a) penetration

b) prestige

c) odd-even

d) experience curve

e) loss-leader

Ans: b

Feedback: Prestige pricing involves setting a high price so the quality- or status-conscious consumers will be attracted to the product and buy it.
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25. You can buy a General Electric dishwasher for $399 or you can buy a similar sized under-the-counter Bosch brand dishwasher for $989. Since Bosch uses its pricing strategy to project a high-quality product image, it is most likely using __________ pricing.

a) bait and switch

b) standard markup

c) prestige

d) penetration

e) cost plus fixed-fee

Ans: c

Feedback: Prestige pricing is an appropriate strategy for items for which a marketer wants to project a quality image. Prestige pricing involves setting a high price so the quality- or status-conscious consumers will be attracted to the product and buy it.
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26. The demand curve for which type of pricing method slopes downward and to the right, then turns back to the left?

a) Skimming pricing

b) Penetration pricing

c) Price lining

d) Demand-backward pricing

e) Prestige pricing

Ans: e

Feedback: Prestige pricing involves setting a high price so that quality- or status-conscious consumers will be attracted to the product and buy it. The demand curve slopes downward and to the right, but turns back to the left when it goes low enough to lose the ability to suggest status.
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27. Figure 14-3A is a graph of which pricing strategy?

a) Skimming

b) Penetration

c) Cost-plus

d) Price lining

e) Prestige

Ans: e

Feedback: Prestige pricing involves setting a high price so that quality- or status-conscious consumers will be attracted to the product and buy it. The demand curve slopes downward and to the right between points A and B but turns back to the left between points B and C because demand is actually reduced between points B and c) From A to B buyers see the lowering of price as a bargain and buy more; from B to C they become dubious about the quality and prestige and buy less.
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28. The movement from point B to point C in Figure 14-3A reflects

a) An increased demand for the product at a lower price

b) Penetration demand

c) That buyers see the product as a bargain and buy more

d) That buyers become dubious about the quality and prestige and buy less

e) A downturn in the economy

Ans: d

Feedback: Prestige pricing involves setting a high price so that quality- or status-conscious consumers will be attracted to the product and buy it. The demand curve slopes downward and to the right between points A and B but turns back to the left between points B and C because demand is actually reduced between points B and c) From A to B buyers see the lowering of price as a bargain and buy more; from B to C they become dubious about the quality and prestige and buy less.
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29. The movement from point A to point B in Figure 14-3A reflects __________.

a) skimming demand

b) penetration demand

c) that buyers see the product as a bargain and buy more

d) that buyers become dubious about the quality and prestige and buy less

e) a downturn in the economy

Ans: c

Feedback: Prestige pricing involves setting a high price so that quality- or status-conscious consumers will be attracted to the product and buy it. The demand curve slopes downward and to the right between points A and B but turns back to the left between points B and C because demand is actually reduced between points B and c) From A to B buyers see the lowering of price as a bargain and buy more; from B to C they become dubious about the quality and prestige and buy less.
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30. Figure 14-3B illustrates which type of pricing approach?

a) Skimming

b) Penetration

c) Cost-plus

d) Price lining

e) Prestige

Ans: d

Feedback: Often a firm that is selling not just a single product but a line of products may price them at a number of different specific pricing points, which is called price lining and is shown in Figure 14-3b)
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31. When using a price lining strategy, a retailer will __________.

a) set price slightly higher than absolutely necessary to protect against losses from environmental factors

b) adjust the price of a product so it is "in line" with that of its largest competitor

c) set the price of a line of products at a number of different specific pricing points

d) add a fixed percentage to the cost of all items in a specific product class

e) set prices to achieve a profit that is a specified percentage of the sales volume

Ans: c

Feedback: Often a firm that is selling not just a single product but a line of products may price them at a number of different specific pricing points, which is called price lining.
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32. The assumption that demand is elastic at a number of price points but is inelastic between these price points leads to which approach to pricing?

a) Target pricing

b) Skimming pricing

c) Penetration pricing

d) Price lining

e) Odd-even pricing

Ans: d

Feedback: Often a firm that is selling not just a single product but a line of products may price them at a number of different specific pricing points, which is called price lining. As shown in Figure 14-3B, that demand is elastic at each of these price points but inelastic between them.
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33. Which of the following statements about price lining is true?

a) This method assumes that demand is elastic at each price point used

b) Primarily government contractors use this method

c) Those who use this method prefer to have at least a dozen different price points

d) This method assumes demand is elastic between the price points

e) All the above statements about price lining are true

Ans: a

Feedback: Price lining is a method used by firms selling a line of products and having different price points for groups of products within the line. The method assumes demand is elastic at each of the price points, but is inelastic between the price points.
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34. Odd-even pricing is __________.

a) setting prices one way for product lines and another way for individual brands

b) setting prices of luxury items at even price points and setting the price of necessities at odd price points

c) setting prices a few dollars or cents under an even number

d) a method of pricing where price often falls following the reduction of costs associated with the firm's production experience

e) adding a fixed percentage to the cost of all items in a specific product class

Ans: c
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35. Odd-even pricing is most closely related to __________.

a) retailers' perceptions of price

b) customers' perceptions of price

c) wholesalers' markups

d) manufacturers' costs

e) cost-of-product facilitation-to-market

Ans: b

Feedback: Odd-even pricing involves setting price a few dollars or cents under an even number. For example, customers see an item priced at $4.99 as "something over $4.00" rather than "about $5.00". The customers' perception of price is the influential factor.
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36. The prices for all furniture sold at IKEA end in $9, such as $599, $899, etc. IKEA uses __________.

a) odd-even pricing

b) dynamic pricing

c) price lining

d) bundle pricing

e) experience curve pricing

Ans: a

Feedback: Odd-even pricing involves setting price a few dollars or cents under an even number. For example, customers see an item priced at $4.99 as "something over $4.00" rather than "about $5.00". This is the case for American Furniture Warehouse pricing.
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37. __________ is a method of setting price by estimating the price consumers would be willing to pay for the item and then working backward to assure necessary margins for the retailers and wholesalers.

a) Penetration pricing

b) Price lining

c) Cost-plus percentage-of-cost pricing

d) Cost-plus fixed-fee pricing

e) Target pricing

Ans: e
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38. Target pricing is the result of a manufacturer __________ in a product to achieve the target price.

a) setting the highest costs possible

b) deliberately adjusting the cost and quality of the component parts

c) researching what mark-ups wholesalers will accept

d) studying competitive prices and making fixed-cost adjustments

e) relying on a jury of executive opinion to establish cost factors

Ans: b
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39. Phillips concluded that consumers would be willing to pay US$60 for a hair dryer that was quieter than any other machine on the market. Based on this price, Phillips determined the margins that would have to be allowed for wholesalers and retailers to give the US$60 retail price. Phillips used __________.

a) prestige pricing

b) price lining

c) cost-plus pricing

d) target pricing

e) customary pricing

Ans: d

Feedback: Target pricing is setting a price by estimating the price consumers would be willing to pay for the product, then working backward through margins for retailers and wholesalers to achieve the targeted retail price.
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40. Which of the following pricing techniques is most sensitive to customers' responses to price?

a) Cost-plus percentage-of-cost pricing

b) Experience curve pricing

c) Cost-plus fixed-fee pricing

d) Target pricing

e) Standard markup pricing

Ans: d

Feedback: Alternatives a, b, c and e are cost-oriented approaches, so consumer demand is irrelevant. Target pricing results in the manufacturer deliberately adjusting the composition and features of a product to achieve the target price to consumers. Target pricing is demand-based and focused on what consumers are willing to pay.
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41. In response to Duracell's introduction of the Duracell Ultra battery, Energizer introduced an Advanced Formula battery, but unlike Duracell, Energizer priced its batteries at a low initial price to attract the mass market. Energizer used __________.

a) penetration pricing

b) prestige pricing

c) skimming pricing

d) price lining

e) cost-plus fixed-fee pricing

Ans: a

Feedback: Penetration pricing is setting a low initial price of a new product—the strategy Energizer chose.
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42. In response to Duracell's introduction of the Duracell Ultra battery, Energizer introduced an Advanced Formula battery, but unlike Duracell, Energizer priced its batteries at a low initial price to attract the mass market. Was Energizer's pricing strategy to take market share from Duracell a success?

a) No, because consumers equate quality of batteries with higher prices

b) No, because retailers did not respond appropriately to the target market pricing strategy

c) No, because consumers are price-insensitive when it comes to batteries

d) Yes, because consumers typically respond positively to cost-plus pricing

e) Yes, because the demand for batteries has unitary elasticity

Ans: a

Feedback: Answer a is what happened because with batteries consumers believe there is a price-quality relationship, which makes answers c and e incorrect. Answer b is incorrect because there is no indication Energizer set a target price and adjusted cost and quality components to maintain wholesaler and retailer margins. Answer d involves cost-oriented pricing, which is irrelevant here.
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43. __________ is the marketing of two or more products for a single "package" price.

a) Packaged pricing

b) Loss-leader pricing

c) Bundle pricing

d) Tie-in pricing

e) Multi-product pricing

Ans: c
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44. If you were to buy five different and individually-packed toothbrushes from Colgate, you would pay S$15, but if you buy a packet of 5 Colgate toothbrushes together you pay S$10. Colgate uses __________.

a) standard markup pricing

b) bundle pricing

c) prestige pricing

d) price lining

e) demand-backward pricing

Ans: b

Feedback: Bundle pricing is the marketing of two or more products in a single package price. Bundle pricing is based on the idea that consumers value the package more than the individual items. This is due to benefits received from not having to make separate purchases and enhanced satisfaction from one item given the presence of another. This is an example of bundle pricing-the marketing of the five toothbrushes at a single "package" price.
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45. The software that Dell includes with its various laptops and prices as part of the laptops' price might best be described as __________.

a) price lining

b) loss-leader pricing

c) customary pricing

d) prestige pricing

e) bundle pricing

Ans: e

Feedback: Bundle pricing is the marketing of two or more products in a single package price. Bundle pricing is based on the idea that consumers value the package more than the individual items. This is due to benefits received from not having to make separate purchases and enhanced satisfaction from one item given the presence of another. This is an example of bundle pricing-the marketing of the software and the computer at a single price.
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46. A box of dishwasher detergent shrink-wrapped with a kitchen towel for 10 cents more than the regular price of the dishwasher detergent is an example of __________ pricing.

a) penetration

b) prestige

c) bundle

d) odd-even

e) standard mark-up

Ans: c

Feedback: Bundle pricing is the marketing of two or more products in a single package price. Bundle pricing is based on the idea that consumers value the package more than the individual items. This is due to benefits received from not having to make separate purchases and enhanced satisfaction from one item given the presence of another. This is an example of bundle pricing-the marketing of the dishwasher detergent and the kitchen towel for one price.
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47. __________ is charging different prices to maximize revenue for a set amount of capacity at any given time.

a) Demand backward pricing

b) Target pricing

c) Yield management pricing

d) Skimming pricing

e) Penetration pricing

Ans: c
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48. One problem in the interstate trucking industry is the number of trucks that return after making a delivery with an empty truck. There is a website where independent interstate truckers can look for loads that they can carry with them on their return trip. Because the trucks would be returning empty (and inefficiently), truckers, who use this website to get business that they would not have had without it, give a reduced shipping rate. This reduced rate is an example of __________.

a) yield management pricing

b) penetration pricing

c) target pricing

d) cost-plus pricing

e) odd-even pricing

Ans: a

Feedback: Yield management pricing is the charging of different prices to maximize revenue for a set amount of capacity at any given time. This yield management pricing benefits independent truckers because they can obtain some revenue from carrying loads in trucks that would otherwise be empty. In this case, charging different prices for loads on a return trip enables them to increase/maximize revenue on their return trip that would otherwise be zero.
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49. Which of the following is NOT a demand-oriented approach to pricing?

a) Prestige pricing

b) Bundle pricing

c) Price lining

d) Penetration pricing

e) Customary pricing

Ans: e

Feedback: Customary pricing is a competition-oriented approach to pricing.
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50. Which of the following is NOT a competition-based pricing approach?

a) Loss-leader pricing

b) Below-market pricing

c) Customary pricing

d) Above-market pricing

e) Penetration pricing

Ans: e

Feedback: Penetration pricing is a demand-oriented approach to pricing.

Page: 379, figure 14-2

Learning Objective: 1

51. Which of the following is a competition-based pricing method?

a) Loss-leader pricing

b) Prestige

c) Skimming

d) Price lining

e) Penetration pricing

Ans: a

Feedback: Loss leader pricing is a competition-oriented approach.
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52. Which of the following is a competition-based pricing method?

a) Customary

b) Prestige

c) Skimming

d) Price lining

e) Penetration pricing

Ans: a

Feedback: Customary is a competition-oriented approach.
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53. Which of the following is a profit-oriented pricing method?

a) Target return on investment

b) Loss leader

c) At, above or below market

d) Price lining

e) Penetration pricing

Ans: a

Feedback: Target return on investment is a profit-oriented approach.
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54 Which of the following is a profit-oriented pricing method?

a) Target return on sales

b) Loss leader

c) At, above or below market

d) Price lining

e) Penetration pricing

Ans: a

Feedback: Target return on sales is a profit-oriented approach.
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55. Which of the following is a cost-oriented pricing method?

a) Standard markup

b) Loss leader

c) At, above or below market

d) Price lining

e) Penetration pricing

Ans: a

Feedback: Standard markup is a cost-oriented approach.

Page: 379, figure 14-2
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56. Which of the following is a cost-oriented pricing method?

a) Experience curve

b) Loss leader

c) At, above or below market

d) Price lining

e) Penetration pricing

Ans: a

Feedback: Experience curve is a cost-oriented approach.
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57. Which of the following is NOT a cost-oriented approach to pricing?

a) Experience curve pricing

b) Cost-plus fixed-fee pricing

c) Standard markup pricing

d) Loss-leader pricing

e) Cost-plus percentage-of-cost pricing

Ans: d

Feedback: Loss-leader pricing is a competition-oriented approach to pricing.
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58. Which of the following is a cost-oriented approach to pricing?

a) Experience curve pricing

b) Skimming pricing

c) Prestige pricing

d) Loss-leader pricing

e) Bundle pricing

Ans: a

Feedback: Experience curve pricing is a cost-oriented approach to pricing. Loss-leader pricing is a competition-oriented approach to pricing. Skimming, prestige and bundle pricing are demand-oriented approaches to pricing.
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59. Which of the following is a cost-oriented approach to pricing?

a) Cost-plus pricing

b) Skimming pricing

c) Prestige pricing

d) Loss-leader pricing

e) Bundle pricing

Ans: a

Feedback: Cost-plus pricing is a cost-oriented approach to pricing. Loss-leader pricing is a competition-oriented approach to pricing. Skimming, prestige and bundle pricing are demand-oriented approaches to pricing.
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60. Which of the following is a cost-oriented approach to pricing?

a) Standard markup pricing

b) Skimming pricing

c) Prestige pricing

d) Loss-leader pricing

e) Bundle pricing

Ans: a

Feedback: Standard markup pricing is a cost-oriented approach to pricing. Loss-leader pricing is a competition-oriented approach to pricing. Skimming, prestige and bundle pricing are demand-oriented approaches to pricing.
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61. Which of the following statements about cost-oriented approaches is true?

a) These methods focus on the demand side of the pricing problem and involve stimulating demand and decreasing revenue

b) These methods focus on the supply side of the pricing problem and involve considerations of production and marketing expenses

c) Target return on investment is an example of a cost-based method

d) Experience curve pricing is simple to use because costs predictably decrease by 25 percent with each doubling of production

e) Cost-oriented approaches are subcategories of competition-based methods so revenues are a critical factor

Ans: e

Feedback: With cost-oriented approaches a price setter stresses the cost side of the pricing problem, not the demand side. Price is set by looking at the production and marketing costs and then adding enough to cover direct expenses, overhead and profit.
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62. Standard markup pricing __________.

a) adjusts the price of a product so it is "in line" with that of its largest competitor

b) sets the price of a line of products at a number of different price points

c) adds a fixed percentage to the cost of all items in a specific product class

d) sets prices to achieve a profit that is a specified percentage of the sales volume

e) increases the price slightly to protect against undue profit losses from unforeseen environmental factors

Ans: c
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63. Which cost-based pricing method entails adding a fixed percentage to the cost of all items in a specific product class?

a) Experience curve pricing

b) Cost-plus fixed-fee pricing

c) Demand backward pricing

d) Standard markup pricing

e) Target profit pricing

Ans: d
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64. NTUC Fairprice sells many types of snacks and candies. To price its inventory, Fairprice adds 35 percent to the cost of each bolt of fabric and every spool of thread. What is this pricing method called?

a) Target return-on-sales pricing

b) Flexible pricing

c) Cost-plus fixed-fee pricing

d) Standard markup pricing

e) Customary pricing

Ans: d

Feedback: Standard markup pricing adds a fixed percentage to the cost of all items in a specific product class—in this case, fabric and thread.
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65. Assume it costs Songbien Co. Ltd, Vietnam, $30 to catch, process, freeze, package and ship, 5-kilogram packages of Vietnamese basa catfish. It uses a 60 percent markup on its salmon products and charges customers $48 for a postage-paid vacuum-sealed package. What type of pricing does Songbien Co. Ltd. use?

a) Target return-on-sales pricing

b) Cost-plus fixed-fee pricing

c) Standard markup pricing

d) Target profit pricing

e) Customary pricing

Ans: c

Feedback: Standard markup pricing adds a fixed percentage (60%) to the cost ($30) of all items in a specific product class (5-kilogram packages of basa catfish) yielding a final price of $48.
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66. What type of pricing involves summing the total unit cost of providing a product or service and adding a specific amount to the cost to arrive at the price?

a) Standard markup pricing

b) Experience curve pricing

c) Cost-plus pricing

d) Penetration pricing

e) Bundle pricing

Ans: c
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67. The two variations of cost-plus pricing are __________.

a) cost-plus percentage-of-cost pricing and cost-plus fixed-fee pricing

b) cost-plus ROI pricing and cost-minus markdown pricing

c) target return on sales pricing and target return on investment pricing

d) cost-plus fixed-fee pricing and cost-plus variable-fee pricing

e) dynamic pricing and one-price pricing

Ans: a

Page: 382

Learning Objective: 1

68. Rather than billing clients by the hour, some lawyers and their clients agree on a fixed fee based on expected costs plus a profit for the law firm. Which pricing method are they using?

a) Target pricing

b) Cost-plus pricing

c) Customary pricing

d) Experience curve pricing

e) Bundle pricing

Ans: b

Feedback: The rising cost of legal fees has prompted some law firms to adopt a cost-plus pricing approach.
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69. __________ is setting the price of a product or service by adding a fixed percentage of the production or construction costs.

a) Cost-plus fixed-fee pricing

b) Cost-plus percentage-of-cost pricing

c) Demand backward pricing

d) Experience curve pricing

e) Target return on investment pricing

Ans: b
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70. When a firm is hired to construct a custom home, it is a one-of-a-kind project and often requires unforeseen expenses. Companies that contract to build custom homes typically add a fixed percentage to the total unit cost to take care of these unplanned costs. This pricing method is called __________.

a) competition-oriented pricing

b) target return-on-investment pricing

c) target return-on-sales pricing

d) cost-plus fixed-fee pricing

e) cost-plus percentage-of-cost pricing

Ans: e

Feedback: Cost-plus percentage-of-cost pricing involves adding a fixed percentage to the total unit cost (in this case of the house). This is often used to price one- or few-of-a-kind items.
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71. Which of the following businesses is most likely to use cost-plus percentage-of-cost pricing?

a) Real estate agency

b) Architect

c) Insurance company

d) Power company

e) Amusement park

Ans: b

Feedback: Cost-plus-percentage-of-cost pricing is setting the price a product or service by adding a fixed percentage to the total unit cost, the pricing approach often used by many architects.
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72. __________ is a pricing method where a supplier is reimbursed for all costs, regardless of what they may be, plus a set earlier-agreed-on dollar amount that is independent of the final cost of the project.

a) Target return on investment pricing

b) Cost-plus percentage-of-cost pricing

c) Target return on sales pricing

d) Experience curve pricing

e) Cost-plus fixed-fee pricing

Ans: e
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73. The Brazilian government wants to build a global satellite transmission system. The manufacturer will receive $500,000 above actual development costs, whatever they may be. Payment to the manufacturer of the satellite transmission system will be determined using __________.

a) standard markup pricing

b) experience curve pricing

c) cost-plus percentage-of-cost pricing

d) cost-plus fixed-fee pricing

e) bundle pricing

Ans: d

Feedback: Cost-plus fixed-fee pricing is setting the price so the supplier is reimbursed for all costs, regardless of what they may be, but is allowed only a fixed amount as profit, the situation here.
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74. __________ is a method of pricing where price often falls following the reduction of costs associated with the firm's producing and selling an increased volume of the product.

a) Cost-plus percentage-of-cost pricing

b) Marginal revenue pricing

c) Target return on investment pricing

d) Experience curve pricing

e) Target return on sales pricing

Ans: d
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75. Which cost-based pricing method holds that a product's unit costs predictably decline by 10 to 30 percent each time the firm's production volume doubles?

a) Experience curve pricing

b) Cost-plus percentage-of-cost pricing

c) Cost-plus fixed-fee pricing

d) Standard markup pricing

e) Demand-backward pricing

Ans: a
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76. The retail price of cell phones has decreased from US$4,000 to less than US$99 over several years. This is due in large part to which type of pricing?

a) Skimming pricing

b) Prestige pricing

c) Odd-even pricing

d) Experience curve pricing

e) Customary pricing

Ans: d

Feedback: Experience curve pricing is a method of pricing in which price often falls following the reduction of costs associated with the firm's experience in producing or selling a larger volume of the product—the situation with cell phones.
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77. The retail price of fax machines has decreased from over US$1,000 to less than US$100 over the last decade. This is due in large part to __________.

a) skimming pricing

b) prestige pricing

c) odd-even pricing

d) experience curve pricing

e) customary pricing

Ans: d

Feedback: Experience curve pricing is a method of pricing in which price often falls following the reduction of costs associated with the firm's experience in producing or selling a larger volume of the product—the situation with fax machines.
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78. The retail price of DVD players has decreased from US$900 to less than US$100 over several years. This is due in large part to __________.

a) skimming pricing

b) prestige pricing

c) odd-even pricing

d) experience curve pricing

e) customary pricing

Ans: d

Feedback: Experience curve pricing is a method of pricing in which price often falls following the reduction of costs associated with the firm's experience in producing or selling a larger volume of the product—the situation with DVD players.
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79. Target profit pricing is __________.

a) adjusting the price of a product so it is "in line" with that of its largest competitor

b) setting the price of a line of products at a number of different price points

c) adding a fixed percentage to the cost of all items in a specific product class

d) setting prices to achieve a profit that is a specified percentage of the sales volume

e) setting a price based on a specific annual dollar target volume of profit

Ans: e
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80. A custom tailor wishes to use target profit pricing to establish a price for a custom designed business suit. Assume variable cost is $200 per suit, fixed cost is $44,000 and a target profit of $50,000 on a volume of 50 suits is desired? What price should be charged for a typical custom suit?

a) $1,040.00

b) $900.00

c) $1,800.00

d) $2,080.00

e) Cannot be determined from the information provided

Ans: d

Feedback: Profit = total revenue - total cost. Profit = (P x Q) - [FC + (UVC x Q)]. Thus, $50,000 = 50P - [$44,000 + ($200 x 50)] or $2,080.00.
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81. Songbien Co. Ltd sells 5-kilogram packages of Vietnamese basa catfish. Assume its variable costs per package is $30 and its fixed cost is $250,000. It wants a target profit of $38,000 on a volume of 16,000 packages. What should it charge for a five-pound package of salmon?

a) $25.00

b) $30.00

c) $40.00

d) $48.00

e) $55.00

Ans: d

Feedback: Profit = total revenue - total cost. Profit = (P x Q) - [FC + (UVC x Q)]. Thus, $38,000 = 16,000P - [$250,000 + ($30 x 16,000] = $48.
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82. The manager of a small gasoline station observes that while gasoline sales have been steady, the service side of the business has fallen off and mechanics are often idle. He decides to offer a promotion—an oil change for $10 with a coupon mailed to 800 households in a 2-mile radius from his station. The $10 will just cover the costs of the oil change and the cost of printing and mailing is $1000. He hopes the promotion will increase regular maintenance service calls, which average $40. (Materials and labor per job cost $30.) If two hundred customers used the coupon, what will be the total cost of the promotion? (Disregard any opportunity costs.)

a) $200

b) $800

c) $1000

d) $1200

e) $1800 or more

Ans: c

Feedback: If you don't consider opportunity costs, the promotion will cost $1000 (the cost of the coupon printing and mailing) regardless of the response.
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83. Target return-on-sales pricing is __________.

a) adjusting the price of a product so it is "in line" with that of its largest competitor

b) setting the price of a line of products at a number of different price points

c) adding a fixed percentage to the cost of all items in a specific product class

d) setting prices to achieve a profit that is a specified percentage of the sales revenue

e) setting a price based on a specific annual dollar target profit volume

Ans: d
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84. A custom kitchen cabinet storeowner wishes to use target return-on-sales pricing to establish a price for a typical section of cabinets. Assume variable cost is $200 per unit, fixed cost is $44,000 and the storeowner desires a target profit of 20 percent of sales on an annual volume of 400 cabinets. What price should be charged for a typical cabinet section?

a) $372.00

b) $311.00

c) $445.50

d) $395.75

e) $387.50

Ans: e

Feedback: Target return on sales = target profit / total revenue. TROS = P x Q - [FC + (UVC x Q)]/TR. 0.20 = 400P - [$44,000 + ($200 x 400)] /400P or $387.50.
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85. Target return-on-investment pricing is __________.

a) setting the price of a line of products at a number of different price points

b) adding a fixed percentage to the cost of all items in a specific product class

c) setting prices to achieve a profit that is a specified percentage of the sales volume

d) setting prices to achieve a specified percentage return-on-investment

e) setting a price based on an annual specific dollar target volume of profit

Ans: d
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86. Which of the following companies would be most likely to use target return-on-investment pricing?

a) A bank 

b) A florist shop

c) A craftsperson book publisher

d) A veterinarian

e) A farmer

Ans: a

Feedback: Target return-on-investment pricing is used to set prices to achieve a particular return on investment. Firms such as the Development Bank of Singapore set annual return-on-investment targets.
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87. Customary pricing is __________.

a) a pricing method where the price the seller quotes includes all transportation costs

b) setting the same price for similar customers who buy the same product and quantities under the same conditions

c) deliberately selling a product below its list price to attract attention to it

d) a method of pricing a product based on tradition, standardized channel of distribution or other competitive factors

e) pricing based on what the market will bear

Ans: d
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88. __________ is a competition-based method of pricing where tradition, a standardized channel of distribution or other competitive factors dictate the price of a product.

a) Standard markup pricing

b) Cost-plus percentage-of-cost pricing

c) Customary pricing

d) Experience curve pricing

e) Target profit pricing

Ans: c
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89. Consumers buy water and soda from vending machines. Traditionally, the price of each of these products is about S$1.20. If a marketer charges a significantly higher price for such products dispensed by vending machines, sales are likely to decline. In order to avoid such declines in sales, marketers tend to be very consistent in the price charged for vending machine products. This is an example of marketers employing a __________ strategy.

a) below-market pricing

b) skimming pricing

c) penetration pricing

d) customary pricing

e) loss-leader pricing

Ans: d

Feedback: For some products, tradition, competitive factors or a standardized distribution channel play a key role in the determination of product price. Vending machines are a prime example of a situation where customary pricing dictates the price charged for the product. As noted in the text, it may be more effective to change the quantity of the product rather than change the price of the product.
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90. Vending machines are a good example of the application of what type of competition-based pricing?

a) Customary pricing

b) Above-, at-, or below-market pricing

c) Loss-leader pricing

d) Penetration pricing

e) Bundle pricing

Ans: a

Feedback: Customary pricing is a method of pricing based on a product's tradition, standardized channel of distribution or other competitive factors. This is the situation with vending machines.
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91. The basic model for Swatch watches has been staying the same at US$40 for 10 years. This practice by Swatch is an example of __________.

a) customary pricing

b) above-, at-, or below-market pricing

c) loss-leader pricing

d) penetration pricing

e) bundle pricing

Ans: a

Feedback: Customary pricing is a method of pricing based on a product's tradition, standardized channel of distribution or other competitive factors.
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92. A Japanese company such as Sony that prides itself on manufacturing and marketing some of the best-built and most expensive electronic products in the world is using which competition-based method of pricing?

a) Customary pricing

b) Above-market pricing

c) Loss-leader pricing

d) Bait-and-switch pricing

e) Bundle pricing

Ans: b

Feedback: Above-, at- or below-market pricing is pricing based on what the market price is. Sony has decided to price its products far above the industry pricing "benchmark", an above-market pricing strategy.
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93. An ad campaign by Suave shampoo asked television viewers to identify the hair that was shampooed and conditioned with Suave products and the hair on which expensive salon hair-care products were used. The idea of the ad was that a person could not tell by looking that a woman was using the much cheaper Suave brand. By making price its selling point, Suave is most likely using __________.

a) demand backward pricing

b) below-market pricing

c) loss-leader pricing

d) prestige pricing

e) skimming pricing

Ans: d

Feedback: The promotional campaign for Suave implies that its prices are significantly below those of equal products on the market, a below-market pricing strategy.
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94. Manufacturers of generic products use which method of competition-based pricing?

a) Demand backward pricing

b) Below-market pricing

c) Loss-leader pricing

d) Prestige pricing

e) Skimming pricing

Ans: b

Feedback: Above-, at- or below-market pricing is pricing based on what the market price is. Manufacturers of generic products and retailers selling private brands often deliberately set prices between 8 and 10 percent lower than nationally branded competitive products, which is a below-market pricing strategy.
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95. Loss-leader pricing is __________.

a) a pricing method where the price the seller quotes includes all transportation costs

b) setting the same price for similar customers who buy the same product and quantities under the same conditions

c) deliberately selling a product below its customary price to attract attention to it

d) a method of pricing based on a product's tradition, standardized channel of distribution or other competitive factors

e) pricing based on intensity of customer demand

Ans: c
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96. Using __________, many retailers deliberately sell products below their normal prices (and sometimes below cost) to attract attention and induce additional store traffic.

a) customary pricing

b) above-market pricing

c) loss-leader pricing

d) prestige pricing

e) skimming pricing

Ans: c

Feedback: Loss-leader pricing is deliberately pricing a product below its customary price to attract consumer attention to it. It is hoped that customers will buy other, higher-margin products while in the store.
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97. When NTUC Fairprice, a national supermarket chain, prices bottles of 1.5 liter green tea at S$1 for a bottle of 1.5l green tea, it is attempting to __________.

a) drive its competition out of business

b) attract customers in hopes they will buy other products as well

c) fill its parking lot so its store will look successful

d) help the local bottler dispose of excess green tea

e) clearing its green tea stock. 

Ans: b

Feedback: When retailers use loss-leader pricing, their purpose is to attract customers in the hopes that they will buy other items in the store as well.
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98. Position A in the marketing dashboard represents the price premium of which of the following?

a) Crunch ‘n Munch

b) Cracker Jack

c) Fiddle Faddle

d) Private Brands

e) Seasonal, Specialty and Regional Brands

Ans: d

Feedback: To calculate a price premium, divide (dollar sales market share for a brand by unit volume market share for a brand) - 1. For Crunch ‘n Munch the price premium is (32/32) – 1 = 0 shown at position d) For Cracker Jack the price premium is (26/19) – 1 = .368 or 36.8% shown at position e) For Fiddle Faddle the price premium is (7/8) – 1 = .109 or 10.9% shown at position b) For Private Brands the price premium is (4/8) – 1 = .50 or 50% shown at position a) Finally for SSR brands the price premium is (31/33) – 1 = .061 or 6.1% shown at position c) Positions A, B and C fall short of the benchmark established by Crunch ‘n Munch while position E shows a price premium relative to Crunch ‘n Munch.
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99. Position B in the marketing dashboard represents the price premium of which of the following?

a) Crunch ‘n Munch

b) Cracker Jack

c) Fiddle Faddle

d) Private Brands

e) Seasonal, Specialty and Regional Brands

Ans: c

Feedback: To calculate a price premium, divide (dollar sales market share for a brand by unit volume market share for a brand) - 1. For Crunch ‘n Munch the price premium is (32/32) – 1 = 0 shown at position d) For Cracker Jack the price premium is (26/19) – 1 = .368 or 36.8% shown at position e) For Fiddle Faddle the price premium is (7/8) – 1 = .109 or 10.9% shown at position b) For Private Brands the price premium is (4/8) – 1 = .50 or 50% shown at position a) Finally for SSR brands the price premium is (31/33) – 1 = .061 or 6.1% shown at position c) Positions A, B and C fall short of the benchmark established by Crunch ‘n Munch while position E shows a price premium relative to Crunch ‘n Munch.
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100. Position C in the marketing dashboard represents the price premium of which of the following?

a) Crunch ‘n Munch

b) Cracker Jack

c) Fiddle Faddle

d) Private Brands

e) Seasonal, Specialty and Regional Brands

Ans: e

Feedback: To calculate a price premium, divide (dollar sales market share for a brand by unit volume market share for a brand) - 1. For Crunch ‘n Munch the price premium is (32/32) – 1 = 0 shown at position d) For Cracker Jack the price premium is (26/19) – 1 = .368 or 36.8% shown at position e) For Fiddle Faddle the price premium is (7/8) – 1 = .109 or 10.9% shown at position b) For Private Brands the price premium is (4/8) – 1 = .50 or 50% shown at position a) Finally for SSR brands the price premium is (31/33) – 1 = .061 or 6.1% shown at position c) Positions A, B and C fall short of the benchmark established by Crunch ‘n Munch while position E shows a price premium relative to Crunch ‘n Munch.

Page: 387

Learning Objective: 1

101. Position D in the marketing dashboard represents the price premium of which of the following?

a) Crunch ‘n Munch

b) Cracker Jack

c) Fiddle Faddle

d) Private Brands

e) Seasonal, Specialty and Regional Brands

Ans: a

Feedback: To calculate a price premium, divide (dollar sales market share for a brand by unit volume market share for a brand) - 1. For Crunch ‘n Munch the price premium is (32/32) – 1 = 0 shown at position d) For Cracker Jack the price premium is (26/19) – 1 = .368 or 36.8% shown at position e) For Fiddle Faddle the price premium is (7/8) – 1 = .109 or 10.9% shown at position b) For Private Brands the price premium is (4/8) – 1 = .50 or 50% shown at position a) Finally for SSR brands the price premium is (31/33) – 1 = .061 or 6.1% shown at position c) Positions A, B and C fall short of the benchmark established by Crunch ‘n Munch while position E shows a price premium relative to Crunch ‘n Munch.
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102. Position E in the marketing dashboard represents the price premium of which of the following?

a) Crunch ‘n Munch

b) Cracker Jack

c) Fiddle Faddle

d) Private Brands

e) Seasonal, Specialty and Regional Brands

Ans: b

Feedback: To calculate a price premium, divide (dollar sales market share for a brand by unit volume market share for a brand) - 1. For Crunch ‘n Munch the price premium is (32/32) – 1 = 0 shown at position d) For Cracker Jack the price premium is (26/19) – 1 = .368 or 36.8% shown at position e) For Fiddle Faddle the price premium is (7/8) – 1 = .109 or 10.9% shown at position b) For Private Brands the price premium is (4/8) – 1 = .50 or 50% shown at position a) Finally for SSR brands the price premium is (31/33) – 1 = .061 or 6.1% shown at position c) Positions A, B and C fall short of the benchmark established by Crunch ‘n Munch while position E shows a price premium relative to Crunch ‘n Munch.
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103. As the brand manager for Cracker Jack, what information does this marketing dashboard give you?

a) You have a price premium relative to Crunch ‘n Munch

b) Crunch ‘n Munch has a price premium relative to Cracker Jack

c) Fiddle Faddle is priced higher than Crunch ‘n Munch

d) Private Brands sell more product than Cracker Jack

e) Seasonal, Specialty and Regional Brands have the lowest market share

Ans: a

Feedback: To calculate a price premium, divide (dollar sales market share for a brand by unit volume market share for a brand) - 1. For Crunch ‘n Munch the price premium is (32/32) – 1 = 0 shown at position d) For Cracker Jack the price premium is (26/19) – 1 = .368 or 36.8% shown at position e)
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104. A radio advertisement features a female buyer who is very enthusiastic about the pricing policies of the Saturn automobile dealers. In the testimonial-type advertisement, the car buyer laments about the difficulty she experienced with other car dealers in haggling over a final price for an auto. In comparison, the buyer touts the ease with which she arrived at a final price for her new Saturn automobile-she simply entered the show room, asked for the price of the car she preferred and the sales person quoted her the selling price. No matter which Saturn dealer she visited, the buyer (or any other buyer for that matter) would be quoted the same price for the same automobile. The advertisement represents Saturn's __________ policy.

a) flexible-price

b) standard-price

c) fixed-price

d) one-price

e) sticker-price

Ans: d

Feedback: A one-price policy, also called fixed pricing is setting one price for all buyers of a product or service. The idea is simple: no matter which Saturn dealer a customer might visit, a given model of Saturn car is priced the same.
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105. A __________ policy is setting one price for all buyers of a product or service.

a) customary pricing

b) one-price

c) flexible-price

d) standard markup

e) blanket price

Ans: b
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106. When you buy a car from a dealership, you are offered the car at a single price. You can buy it or not, but there is no variation in price under the seller's __________.

a) penetration strategy

b) odd-even pricing

c) one-price policy

d) bundle-pricing policy

e) flexible-price policy

Ans: c

Feedback: One-price policy, also called fixed pricing is setting one price for all buyers of a product or service.
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107. What is fixed pricing?

a) Pricing for products that have a traditionally accepted price range

b) Another name for price lining

c) Another name for cost-plus fixed-fee pricing

d) A type of demand-oriented pricing

e) Another name for a one-price policy

Ans: e
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108. Offering different prices for products and services depending on individual buyers and purchase situations is called __________.

a) price lining

b) customary pricing

c) a flexible-price policy

d) price fixing

e) discretionary pricing

Ans: c
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109. Which of the following statements about a flexible-price policy is true?

a) Flexible-price policy is particularly prevalent for products and services bought online

b) A flexible-price policy may be used when selling a house

c) A flexible-price policy may be used when selling a car

d) Flexible pricing may result in race and gender discrimination

e) All of the above statements about a flexible-price policy are true

Ans: e

Feedback: While a flexible-price policy may be used in selling products like houses or cars, it runs the risk of resulting in discrimination against the buyer. Price customization is also prevalent for online services and products. 
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110. Yield management pricing is a form of __________.

a) fixed pricing

b) loss-leader pricing

c) dynamic pricing

d) customary pricing

e) price lining

Ans: c

Feedback: A flexible-price policy, also called dynamic pricing, involves setting different prices for products and services depending on individual buyers and purchase situations. Yield management pricing is a form of flexible pricing because prices vary by an individual buyer's purchase situation, company cost considerations and competitive conditions.

Page: 388

Learning Objective: 2

111. When Teresa went into the furniture store to buy a new sleeper sofa, she thought the prices quoted by the salesperson were too high, so she prepared to leave. As she neared the door, the salesperson asked if she would be interested in buying the sofa if the price was $150 lower. Teresa returned to the store, purchased the sofa and felt like she had gotten a good deal. The furniture store uses __________.

a) price lining

b) customary pricing

c) a flexible-price policy

d) price fixing

e) discretionary pricing

Ans: c

Feedback: A flexible-price policy, also called dynamic pricing, involves setting different prices for products and services depending on individual buyers and purchase situations. With a flexible-price policy, the furniture store could offer the sofa to similar customers but at different prices.
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112. Which of the following statements about purchasing a car is true?

a) Car dealers offer minorities and female higher prices than majorities and males. 

b) A shortcoming of how flexible pricing is used in car sales is the potential for price discrimination by race and gender

c) Smaller price premiums remain after adjusting for income, education and other factors that may affect price negotiations

d) Car dealers have traditionally used flexible pricing on the basis of buyer-seller negotiations to agree on a final sales price. 

e) All of the above statements about how a new car is purchased are true

Ans: e

Feedback: Flexible pricing means that some customers pay more and others less for the same product or service. And flexible pricing is not without its critics because of this discriminatory potential. For example, car dealers have traditionally used flexible pricing on the basis of buyer–seller negotiations to agree on a final sales price. However, flexible pricing may result in discriminatory practices in car buying as women and minorities may end up paying high prices. There are also legal issues associated with flexible pricing as a flexible-price policy may lead to price discrimination, which may violate business laws in some Asian countries.
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113. Different brands within a company's product line generally have different profit margins; higher price lines have higher profit margins. For example, Nike Variety tennis shoes have variable costs of US$6 and sell for US$24; whereas, Nike Wimbledon tennis shoes have variable costs of US$10 and sell for US$48. It is most likely true that __________.

a) demand is unrelated to price

b) Nike is using a cost-plus percentage-of-cost pricing strategy

c) Nike is using a product-line pricing strategy

d) demand is unrelated to product quality

e) consumers do not use price as an indication of quality

Ans: c

Feedback: A product-line pricing strategy is the setting of prices for all items in a product line. When setting prices, the manager seeks to cover the total cost and produce a profit for the complete line, not necessarily for each item. Nike is using a product-line pricing strategy. 
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114. When a manager sets prices for all items in a multiple products line to cover the total cost and to produce a profit for the complete line—not necessarily for each item, it is called __________.

a) line item pricing

b) product-line pricing

c) price lining

d) customary pricing

e) discretionary pricing

Ans: b
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115. The price for Nintendo's Wii video game console was likely at or below its cost, but the price of its video games was set high enough to cover the loss and deliver a handsome profit for the Nintendo product line. This example illustrates Nintendo's use of __________.

a) line item pricing

b) product-line pricing

c) price lining

d) customary pricing

e) discretionary pricing

Ans: b

Feedback: When a manager sets prices for all items in a multiple products line to cover the total cost and to produce a profit for the complete line-not necessarily for each item, it is called product-line pricing.
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116. Lee Kum Kee recognizes that any types of sauces such as oyster sauce, soy sauce, chilli sauce, one-step-recipe sauce, XO sauce and gourmet sauce are partially substitutes for one another, and that its dry condiments such as chicken bouillon powder complement the sauces. Lee Kum Kee prices the sauces around US$3.00 per small bottle while the chicken bouillon powder is priced at US$4.29 per bottle. Which of the following explains Lee Kum Kee’s pricing strategy? 

a) Since the sauces are substitutes to one another, they are priced low, and Lee Kum Kee will draw on the sales of their complements (dry condiments) to make up for any loss in sauces. 

b) Dry condiments are more important to Lee Kum Kee, and, thus, are priced slightly higher.

c) Lee Kum Kee’s pricing for the sauces is a form of penetration.

d) Lee Kum Kee’s pricing for the condiments is a form of skimming. 

e) Both the sauces and the condiments are examples of prestige pricing. 

Ans: a

Feedback: The sauces are priced low to induce buyers to buy and to keep the products competitive. The dry condiments are priced higher than the sauces because they are compliments and most customers will buy them in addition to the sauce. Hence, a higher price can make up for any loss in the sales of the sauces. 

Page: 389

Learning Objective: 2

117. Toro decided to augment its traditional hardware outlet distribution by also selling through big discounters such as Wal-Mart and Target and set prices for the discounters substantially below those for its traditional hardware outlets. Many unhappy hardware stores subsequently abandoned Toro products in favor of other manufacturers. This is an example of a firm failing to consider __________ effects when setting its final list or quoted price.

a) company

b) social responsibility

c) backlash

d) competitive

e) customer

Ans: e

Feedback: In setting its prices, Toro failed to weigh the customer effects of its pricing decisions and consider the factors that satisfy the perceptions or expectations of its customers. By failing to consider how its traditional hardware outlet customers would view the lower prices offered the discounters, Toro lost many of these hardware store (customer) outlets.
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118. Many times low-cost airlines will enter a particular city pair market at a much lower price than that offered by the major airline currently serving the market. When the low-cost airline enters, the major airline will then cut its prices, many times at or below those offered by the low-cost airline, hoping to eventually drive the smaller carrier out of its market. This is an example of a company failing to consider __________ effects when planning its strategy.

a) company

b) social responsibility

c) backlash

d) competitive

e) customer

Ans: d

Feedback: In setting its prices for a particular city-pair, a low-cost airline needs to consider the other airlines currently serving that city-pair and the prices the other airlines charge. Without considering this competitive effect, the airline may find itself in a price war.
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119. A __________ involves successive price cutting by competitors to increase or maintain their unit sales or market share.

a) low-price policy

b) price war

c) pricing backlash

d) competitive cost war

e) price reduction

Ans: b
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120. A price war involves successive price cutting by competitors to __________ or market share.

a) decrease return on investment

b) increase customer awareness

c) decrease unit sales

d) decrease variable costs

e) increase unit sales

Ans: e
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121. A price war involves successive price cutting by competitors to increase or maintain their unit sales or __________.

a) decrease return on investment

b) increase customer awareness

c) decrease unit sales

d) decrease variable costs

e) increase market share

Ans: e
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122. Marketers should consider price cutting only if __________.

a) the company has a technological advantage over its competitors

b) primary demand for a product class will grow if prices are lowered

c) the price cut is confined to specific products and not across-the-board

d) the price cut is confined to specific customers and not across-the-board

e) all of the above are conditions under which marketers may consider price cutting

Ans: e

Feedback: Marketers are advised to consider price cutting only when one or more conditions exist: (1) the company has a cost or technological advantage over its competitors, (2) primary demand for a product class will grow if prices are lowered and (3) the price cut is confined to specific products or customers and not across-the-board.
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123. What is the main difficulty involved in performing a marginal analysis of the incremental costs and revenues that could result from a new advertising campaign?

a) Measuring the extra fixed cost involved

b) Measuring the extra variable cost involved

c) Measuring the incremental revenue generated by the change

d) Measuring the incremental cost incurred by the change

e) All of the above

Ans: c

Feedback: A firm can measure the incremental cost of a new advertising campaign quite easily because the costs figures are readily available. It is difficult, however, to measure the incremental revenue generated by the advertising campaign.

Page: 391

Learning Objective: 2

124. A small gasoline station manager observes that while gasoline sales have been steady, the service side of her business has fallen off and mechanics are often idle. She decides to offer a promotion-an oil change for $10 with a coupon mailed to 800 households in a 2-mile radius from her station. The $10 will just cover the costs of the oil change and the cost of printing and mailing is $1000. She hopes the promotion will increase regular maintenance service calls, whose average price is $40. (Average materials and labor costs per job is $30.) How many additional maintenance service jobs must result for the promotion to break even? (Disregard opportunity costs, goodwill effects and any additional revenues.)

a) 70 maintenance jobs

b) 80 maintenance jobs

c) 100 maintenance jobs

d) 300 maintenance jobs

e) 400 maintenance jobs

Ans: c

Feedback: Incremental No. of Jobs = Extra Fixed Cost / Price – UVC = 1000 / 40 – 30 = 100 maintenance jobs.
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125. The three major types of special adjustments to list or quoted price are __________.

a) discounts, allowances, geographical adjustments

b) demand-oriented, cost-oriented, profit-oriented

c) one price, flexible price, discounts

d) discounts, allowances, competition-oriented

e) discounts, incremental costs and revenues, geographic

Ans: a

Feedback: The three major types of special adjustments to list or quoted price are discounts, allowances and geographical adjustments.
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126. Four types of price discounts are __________.

a) quantity, trade-in, promotional and cash

b) seasonal, trade (functional), cash and quantity

c) quantity, seasonal, promotional and cash

d) cash, trade-in, seasonal and promotional

e) trade-in, promotional, geographic and functional

Ans: b

Feedback: Discounts are reductions from the list price that a seller gives a buyer as a reward for some activity of the buyer that is favorable to the seller. Four kinds of discounts are especially important in marketing strategy: (1) quantity, (2) seasonal, (3) trade (functional) and (4) cash.
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127. Reductions in unit cost for placing a larger order are __________.

a) promotional allowances

b) quantity discounts

c) one-price policy prices

d) penetration prices

e) size of order allowances

Ans: b
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128. Your local instant photocopying service charges 10 cents a copy for copies up to a quantity of 25, 9 cents a copy for 26 to 100 and 8 cents a copy for 101 or more. What kind of adjustment to list or quoted prices is the photocopying service using?

a) Bundle pricing

b) Quantity discounts

c) Loss-leader pricing

d) Promotional discounts

e) Everyday low pricing

Ans: b

Feedback: Quantity discounts are reductions in unit costs for a larger order. The question provides an example of quantity discounts.

Page: 392

Learning Objective: 3

129. A __________ is based on the size of an individual purchase order. It encourages large individual purchase orders, not repeat orders.

a) promotional allowance

b) cumulative quantity discount

c) bundle pricing

d) functional discount

e) noncumulative quantity discount

Ans: e
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130. If you buy one pair of socks, the cost is $4, but if you buy ten at one time, the price per pair is reduced to $3.50. This is an example of a __________.

a) promotional allowance

b) cumulative quantity discount

c) bundle pricing

d) functional discount

e) noncumulative quantity discount

Ans: e

Feedback: Noncumulative quantity discounts are based on the size of an individual purchase order. They encourage large individual purchase orders, not a series of orders.
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131. A __________ applies to the accumulation of purchases of a product over a given time period, typically a year.

a) promotional allowance

b) cumulative quantity discount

c) cash discount

d) functional discount

e) noncumulative quantity discount

Ans: b
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132. Michael Tan, a sales representative for a major distributor of Kodak film, wanted to encourage repeat purchases by his customers. In order to accomplish this objective, Michael offered the following discount to his customers 

10-50 cases of film over the next 12 months—a 10 percent discount, 51-100 cases of film over the next 12 months—a 12 percent discount, 101-200 cases of film over the next 12 months a 15 percent discount. What type of discount was Michael offering his customers?

a) A seasonal discount

b) A cumulative quantity discount

c) A noncumulative quantity discount

d) A trade discount

e) A noncumulative trade discount

Ans: b

Feedback: Cumulative quantity discounts are typically used to encourage customers to engage in repeat purchase behavior. In essence, the more product a customer purchases during a given and specified period of time, the greater the price discount that customer receives. This is what Michael Tan offered his customers.
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133. Manufacturers use seasonal discounts to __________.

a) entice dealers to purchase seasonal merchandise earlier in the selling season

b) get rid of dated merchandise

c) prolong the peak seasonal selling season

d) "load up" their dealers

e) show consumers holiday goodwill

Ans: a

Feedback: Seasonal discounts encourage the buyer to stock inventory earlier than normal demand would require. This enables the manufacturer to reduce seasonal peaks and troughs in production.
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134. To encourage buyers to stock inventory earlier than their normal demand would require, manufacturers often use __________.

a) noncumulative discounts

b) cumulative discounts

c) seasonal discounts

d) trade discounts

e) functional discounts

Ans: c

Feedback: Discounts are reductions from list price that a seller gives a buyer as a reward for some activity of the buyer that is favorable to the seller. Seasonal discounts encourage buyers to stock inventory earlier than their normal demand would require.
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135. To enable manufacturers to smooth out manufacturing peaks and troughs and thereby contribute to more efficient production, manufacturers offer __________.

a) noncumulative discounts

b) cumulative discounts

c) seasonal discounts

d) trade discounts

e) functional discounts

Ans: c

Feedback: Discounts are reductions from list price that a seller gives a buyer as a reward for some activity of the buyer that is favorable to the seller. Seasonal discounts encourage buyers to stock inventory earlier than their normal demand would require. This allows manufacturers to smooth out manufacturing peaks and troughs as well as rewarding wholesalers and retailers for the risk they accept in assuming increased inventory carrying costs and having supplies in stock at the time they are wanted by customers.
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136. To reward wholesalers and retailers for the risk they accept in assuming increased inventory carrying costs, manufacturers offer __________.

a) noncumulative discounts

b) cumulative discounts

c) seasonal discounts

d) trade discounts

e) functional discounts

Ans: c

Feedback: Discounts are reductions from list price that a seller gives a buyer as a reward for some activity of the buyer that is favorable to the seller. Seasonal discounts encourage buyers to stock inventory earlier than their normal demand would require. This allows manufacturers to smooth out manufacturing peaks and troughs as well as rewarding wholesalers and retailers for the risk they accept in assuming increased inventory carrying costs and having supplies in stock at the time they are wanted by customers.
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137. To reward wholesalers and retailers for having supplies in stock at the time they are wanted by customers, manufacturers offer __________.

a) noncumulative discounts

b) cumulative discounts

c) seasonal discounts

d) trade discounts

e) functional discounts

Ans: c

Feedback: Discounts are reductions from list price that a seller gives a buyer as a reward for some activity of the buyer that is favorable to the seller. Seasonal discounts encourage buyers to stock inventory earlier than their normal demand would require. This allows manufacturers to smooth out manufacturing peaks and troughs as well as rewarding wholesalers and retailers for the risk they accept in assuming increased inventory carrying costs and having supplies in stock at the time they are wanted by customers.
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138. When purchasing which one of the following products would a retailer be likely to receive a seasonal discount?

a) Engraved silver picture frames

b) Computer printer paper

c) Mystery novels

d) Cans of Italian-cut green beans

e) None of the above

Ans: e

Feedback: Discounts are reductions from list price that a seller gives a buyer as a reward for some activity of the buyer that is favorable to the seller. Seasonal discounts encourage buyers to stock inventory earlier than their normal demand would require. This allows manufacturers to smooth out manufacturing peaks and troughs as well as rewarding wholesalers and retailers for the risk they accept in assuming increased inventory carrying costs and having supplies in stock at the time they are wanted by customers. Seasonal discounts are given on products like Christmas decorations, swimsuits and wood burning stoves that have seasonal spikes in demand. The products listed would not have a primary selling season.
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139. When calculating trade (functional) discounts, the first number in the sequence always refers to the __________.

a) discount to the ultimate consumer

b) manufacturer's percentage cost

c) retail end of the channel

d) channel intermediary closest to the manufacturer
e) SKU

Ans: c

Feedback: This is the pricing convention used in today's businesses. The price quote is the manufacturer's suggested retail price $100 less 30/10/5 for example. The first number in the percentage sequence always refers to the retail end of the channel and the last number always refers to the wholesaler or jobber closest to the manufacturer in the channel.
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140. A manufacturer does marketing research and estimates that consumers will accept a price of $50 for a jacket. If the manufacturer expects to offer trade discounts of 40/10/5 to retailers, wholesalers and agents, what price will the manufacturer receive for the jacket?

a) $45

b) $27.50

c) $25.65

d) $22.50

e) $10.05

Ans: c

Feedback: $50 x .6 x .9 x .95 = $25.65 or The manufacturer would realize $25.65, calculated as follows: $50.00 less 40 percent of $20.00 = $30.00 is the amount the retailer pays the wholesaler. $30.00 less 10 percent of $3.00 = $27.00 is the amount the wholesaler pays the jobber. $27.00 less 5 percent of $1.35 = $25.65 is the amount the jobber pays the manufacturer.
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141. A manufacturer estimates that consumers will accept a price of $275 for a snowboard. If the manufacturer expects to offer trade discounts of 35/15/ 5 to retailers, wholesalers and agents, respectively, what price will the manufacturer receive for the snowboard?

a) $72.37

b) $99.94

c) $104.73

d) $125.00

e) $144.34

Ans: e

Feedback: $275 x .65 x .85 x .95 = $144.34 or The manufacturer would realize $144.34, calculated as follows: $275 less 35 percent of $96.25 = $178.75 is the amount the retailer pays the wholesaler. $178.75 less 15 percent of $26.81 = $151.94 is the amount the wholesaler pays the jobber. $151.94 less 5 percent of $7.60 = $144.34 is the amount the jobber pays the manufacturer.
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142. A manufacturer offers a suggested list price for a cashmere sweater of $250. The trade discount is 40/20/10. What amount does the manufacturer expect to receive for the sweater?

a) $175.00

b) $225.00

c) $108.00

d) $125.00

e) $100.00

Ans: c

Feedback: $250 x .60 x .80 x .90 = $108. or The manufacturer would realize $108.00, calculated as follows: $250 less 40 percent of $100 = $150 is the amount the retailer pays the wholesaler. $150 less 20 percent of $30 = $120 is the amount the wholesaler pays the jobber. $120 less 10 percent of $12 = $108 is the amount the jobber pays the manufacturer.
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143. Within the channel of distribution for certain types of imported furniture, the typical trade terms are 40/15/10. If a dining room table has a list price of $1000, how much would the manufacturer sell the table to a jobber for?

a) $459.00

b) $400.00

c) $390.00

d) $350.00

e) $300.00

Ans: a

Feedback: The manufacturer would realize $459.00, calculated as follows: $1000 less 40 percent of $400 = $600 is the amount the retailer pays the wholesaler. $600 less 15 percent of $90 = $510 is the amount the wholesaler pays the jobber. $510 less 10 percent of $51 = $459 is the amount the jobber pays the manufacturer.
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144. A glass blowing studio makes fine pieces of art glass. It has decided on a retail list price of $2000 for one of its vases. They sell only using wholesalers and retailers who receive 50/10 terms. How much will the studio receive from selling this vase?

a) $1000

b) $1200

c) $800

d) $900

e) $1800

Ans: d

Feedback: The manufacturer would realize $459.00, calculated as follows: $2000 less 50 percent of $1000 = $1000 is the amount the retailer pays the wholesaler. $1000 less 10 percent of $100 = $900 is the amount the wholesaler pays the manufacturer.
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145. Which of the following terms does Figure 14-7 reflect?

a) 30/7/3.15

b) 30/10/5

c) 5/10/30

d) 10/30/5

e) 30/5/10

Ans: b

Feedback: The manufacturer quotes price as list price of $100 less 30/10/5. The first number in the percentage sequence always refers to the retail end of the channel. The last number always refers to the wholesaler or jobber closest to the manufacturer in the channel. The trade discounts are simply subtracted one at a time.
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146. In Figure 14-7, what does $7.00 represent?

a) The wholesaler's trade discount

b) The retailer's trade discount

c) The jobber's trade discount

d) The manufacturer's trade discount

e) The manufacturer's markup

Ans: a

Feedback: The manufacturer quotes price as list price of $100 less 30/10/5. The first number in the percentage sequence always refers to the retail end of the channel. The last number always refers to the wholesaler or jobber closest to the manufacturer in the channel. The trade discounts are simply subtracted one at a time. $7.00 represents the wholesaler's trade discount.
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147. How much is the wholesaler trade discount according to Figure 14-7?

a) $30

b) $7

c) $3.15

d) $63

e) $59.85

Ans: b

Feedback: The manufacturer quotes price as list price of $100 less 30/10/5. The first number in the percentage sequence always refers to the retail end of the channel. The last number always refers to the wholesaler or jobber closest to the manufacturer in the channel. The trade discounts are simply subtracted one at a time. $7.00 represents the wholesaler's trade discount.
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148. How much is the retailer trade discount according to Figure 14-7?

a) $30

b) $7

c) $3.15

d) $63

e) $70

Ans: a

Feedback: The manufacturer quotes price as list price of $100 less 30/10/5. The first number in the percentage sequence always refers to the retail end of the channel. The last number always refers to the wholesaler or jobber closest to the manufacturer in the channel. The trade discounts are simply subtracted one at a time. $30.00 represents the retailer's trade discount.
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149. How much is the jobber trade discount according to Figure 14-7?

a) $30

b) $7

c) $3.15

d) $63

e) $70

Ans: a

Feedback: The manufacturer quotes price as list price of $100 less 30/10/5. The first number in the percentage sequence always refers to the retail end of the channel. The last number always refers to the wholesaler or jobber closest to the manufacturer in the channel. The trade discounts are simply subtracted one at a time. $3.15 represents the jobber's trade discount.
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150. To encourage retailers to pay their bills quickly, manufacturers offer them __________.

a) quantity discounts

b) flexible pricing policies

c) promotional allowances

d) cash discounts

e) manufacturers' inducements

Ans: d

Page: 393

Learning Objective: 3

151. If an invoice for $45,000 is billed 2/10 net 30, what is the highest annual interest rate that one would rationally pay to borrow money in order to take advantage of the cash discount if the only consideration is a lower annual interest rate than charged on the invoice?

a) 71.9 percent

b) 9.9 percent

c) 17.9 percent

d) 23.9 percent

e) 35.9 percent

Ans: e

Feedback: 2 percent for 20 days is an annual rate of 36 percent (360 days / 20 day periods = 18 periods x 2% = 36%). So the highest annual interest rate below 36 percent is possible, 35.9 percent here.
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152. Larry’s Lawn Care allows customers to use a credit card for purchases. Larry pays 3 percent of the sale to the credit card company. To promote more business, Larry decides to offer a lower price to customers paying cash—that price being 3 percent less than the standard list price. Larry is giving his customers a(n) __________:

a) functional discount

b) trade-in allowance

c) promotional allowance

d) discount-for-cash

e) everyday low price

Ans: d

Feedback: Larry is providing a cash discount to customers equal to the cost of credit. This discount takes the form of a discount-for-cash policy.
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153. When John bought gas, he noticed the convenience store offered him a 3 percent reduction in price if he paid cash rather than used his credit card. The convenience store was offering him a __________.

a) trade discount

b) cash discount

c) promotional allowance

d) rebate

e) functional discount

Ans: b

Feedback: Retailers provide cash discounts to customers to eliminate the cost of credit granted to consumers.
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154. __________, like discounts, are reductions from list or quoted prices to buyers for performing some activity.

a) Uniform pricing

b) Basing point pricing

c) Noncumulative deductions

d) List price deductions

e) Allowances

Ans: e
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155. A new car dealer can offer a reduction in the list price of a new Toyota Camry truck by offering you a __________ of US$1,000 for your Nissan Sunny.

a) cash discount

b) functional discount

c) seasonal discount

d) trade-in allowance

e) promotional allowance

Ans: d

Feedback: A trade-in allowance is a price reduction given when a used product is part of the payment on a new product. The question gives an example of a situation involving a trade-in allowance.
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156. A __________ is a price reduction given when a used product is part of the payment on a new product.

a) cash discount

b) functional discount

c) seasonal discount

d) trade-in allowance

e) promotional allowance

Ans: d
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157. The cash payment or extra amount of "free goods" awarded sellers in the channel of distribution for undertaking certain advertising or selling activities to promote the product is a __________.

a) auantity discount

b) flexible pricing policy

c) promotional allowance

d) payoff

e) manufacturer's inducement

Ans: c
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158. The practice of replacing promotional allowances with lower manufacturer list prices is called __________.

a) everyday low pricing

b) FOB origin pricing

c) trade-in allowances

d) single-zone pricing

e) basing-point pricing

Ans: a
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159. Which of the following statements about everyday low pricing (EDLP) is true?

a) EDLP encourages manufacturer allowances

b) Supermarkets have hailed EDLP as value pricing at its most effective

c) Some argue that EDLP without price specials is boring for many grocery shoppers

d) EDLP allows supermarkets to use deeply discounted price specials

e) EDLP can increase average retail prices by as much as 10 percent

Ans: c

Feedback: EDLP eliminates manufacturer allowances. EDLP does not allow supermarkets to use deeply discounted price specials-Hi-Lo pricing. Manufacturers refer to EDLP as value pricing and supermarkets call it everyday low profits. EDLP can reduce average retail prices by as much as 10 percent.
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160. In preference to everyday low prices (EDLP), supermarkets prefer __________ based on frequent specials where prices are temporarily lowered, then raised again.

a) odd-even pricing

b) a one-price policy

c) Hi-Lo pricing

d) bundle-pricing

e) rigid-pricing

Ans: c

Feedback: The Marketing Matters box describes how supermarkets prefer Hi-Lo pricing based on frequent specials that they believe enables them to have higher profits than with EDLP.
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161. Which of the following statements about geographical adjustments to price is correct?

a) In FOB origin pricing, the seller selects the mode of transportation

b) In FOB with freight-allowed pricing, the seller adds the transportation costs to the list price

c) Multiple-zone pricing is sometimes referred to as "postage-stamp" pricing

d) Basing point pricing seems to have been used in industries where freight expenses are a significant part of the total cost to the buyer

e) All of the above statements about geographical adjustments to price are correct

Ans: d

Feedback: Basing-point pricing involves selecting one or more geographical locations (basing point) from which the list price for products plus freight expenses are charged to the buyer. Basing-point pricing methods have been used in the cement and lumber industries where freight expenses are a significant part of the total cost to the buyer and products are largely undifferentiated.
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162. Geographic adjustments are made by manufacturers or wholesalers to cover __________.

a) production costs

b) administrative costs

c) promotional costs

d) variable costs

e) none of the above

Ans: e

Feedback: Geographic adjustments are made by manufacturers or wholesalers to list or quoted prices to reflect the cost of transportation of the products from seller to buyer.
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163. FOB origin pricing is a method of pricing where __________.

a) title of goods remains with the manufacturer until sold to the ultimate consumer

b) title of goods passes to the buyer upon arrival at the final destination

c) title of goods passes to the buyer at the point of loading

d) price the seller sets includes all transportation costs

e) title of goods passes to the buyer when the state boundary is crossed

Ans: c
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164. Lee Kum Kee, based in Guangdong Province, China produces and ships many kinds of Chinese sauces to many parts of the world like Australia/New Zealand, Europe and North America. Which of the following statements about the shipment of is true assuming Lee Kum Kee uses FOB origin pricing?

a) All buyers will pay no shipping costs because they are paid by Lee Kum Kee.

b) Lee Kum Kee pays the same amount as the buyer no matter where the compressor is shipped

c) It will cost Lee Kum Kee more to ship to North America than to Australia. 

d) A buyer in New York, will pay significantly more shipping charges than a buyer in Sydney and Lee Kum Kee will pay none

e) All buyers will pay the same shipping costs and Lee Kum Kee will pay none

Ans: d

Feedback: FOB origin pricing usually involves the seller's naming the location of this loading as the seller's factory or warehouse. The buyer is responsible for all the transportation costs. Buyers farthest from the seller face the big disadvantage of paying the higher transportation costs. With FOB origin pricing, Lee Kum Kee will not be paying shipping costs.
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165. When buyers and sellers are separated by vast distances, geographical adjustments may be made to reflect the cost of transportation of the products from sellers to buyers. Which method of quoting prices would be chosen by a seller who wants to maximize profits?

a) Uniform delivered pricing

b) Single-zone pricing

c) Multiple-zone pricing

d) FOB origin pricing

e) FOB buyer's location

Ans: d

Feedback: FOB origin pricing usually involves the seller's naming the location of this loading as the seller's factory or warehouse. The seller pays the cost of loading the product onto the vehicle, usually at the seller's factory or warehouse. The title passes to the buyer at the point of loading, so the buyer is responsible for all freight costs. Thus, the seller has maximized profit, with no added costs for freight-and no geographical adjustments. However, a competitor may offer some kind form of delivered pricing method, so the seller may need to adjust this policy.
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166. The fashion buyer for Mango is in Paris to view the new collections and to order for the coming season. There, she negotiates a good price for a quantity of shoes in a range of sizes and styles, FOB factory. This means that __________.

a) the factory selects the mode of transportation, pays freight charges and is responsible for any damage because the seller retains title to the goods until they are delivered to Mango.

b) Mango selects the mode of transportation, pays freight charges and is responsible for any damage while the shoes are in transit because title passed to the buyer at the point of loading

c) Mango and the factory split freight costs

d) the factory only pays freight to France

e) the factory passes the title when the goods are loaded, but will pay all shipping costs

Ans: b

Feedback: With FOB factory (FOB origin pricing) the title to the goods passes to the buyer at the point of loading, so Mango becomes responsible for picking the specific mode of transportation, for all the transportation costs and for subsequent handling of the shoes.
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167. Which of the following is NOT a uniform delivered pricing method?

a) Single-zone pricing

b) FOB with freight allowed pricing

c) Freight absorption pricing

d) Multiple-zone pricing

e) FOB origin pricing

Ans: e

Feedback: When a uniform delivered pricing method is used, the price the seller quotes includes all transportation costs. The seller selects the mode of transportation, pays the freight charges and is responsible for any damage that may occur because the seller retains title to the goods until delivered to the buyer. There are four kinds of delivered pricing methods: (1) single-zone pricing, (2) multiple-zone pricing, (3) FOB with freight-allowed pricing (also called freight absorption pricing and (4) basing-point pricing.
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168. Uniform delivered pricing means __________.

a) title of goods remains with the manufacturer until sold to the ultimate consumer

b) pricing and title of goods passes to the buyer and buyer pays all freight costs

c) title of the goods passes to the buyer at the point of shipment

d) the price the seller sets includes all transportation costs

e) title of goods passes to the buyer when the state boundary is crossed

Ans: d
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169. Many cruise lines pay the customer's airfare to the point of cruise departure. What type of price adjustment are the cruise lines using?

a) Skimming pricing

b) Promotional pricing

c) Quantity discount pricing

d) Uniform delivered pricing

e) Prestige pricing

Ans: d

Feedback: Uniform delivered pricing is a method of pricing where the price the seller quotes includes all transportation costs.
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170. A company placing an order from the Lab Safety Supply catalog is instructed to add 6 percent of the total cost of the order to pay for shipping. Which method of shipping does this catalog supplier use?

a) Single-zone pricing

b) Flexible-price pricing

c) FOB origin pricing

d) FOB destination

e) Basing-point pricing

Ans: a

Feedback: Single-zone pricing is a form of uniform delivered pricing. In single-zone pricing all buyers pay the same delivered price for the products (6%) regardless of their distance from the seller.
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171. In __________ all buyers pay the same delivered price for the products, regardless of their distance from the seller.

a) single-zone pricing

b) multiple-zone pricing

c) freight absorption pricing

d) FOB origin pricing

e) basing-point pricing

Ans: a
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172. In __________ a firm divides its selling territory into geographic areas or zones.

a) single-zone pricing

b) multiple-zone pricing

c) freight absorption pricing

d) FOB origin pricing

e) basing-point pricing

Ans: b
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173. After extensive analysis, a mail order company has decided to embark on a policy of multiple-zone pricing. In which step of the price-setting process would the mail order firm have made this decision?

a) Make special adjustments to the list or quoted price

b) Select an approximate price level

c) Estimate demand and revenue

d) Identify price constraints and objectives

e) Set list or quoted price

Ans: a

Feedback: This decision is part of step 6 of the price-setting process: Make special adjustments to the list or quoted price.
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174. A company in China that produces and sells rice crackers charges higher shipping costs for orders sent to customers living in the southern provinces of China. This company is using __________.

a) single-zone pricing

b) multiple-zone pricing

c) FOB origin pricing

d) freight absorption pricing

e) basing-point pricing

Ans: b

Feedback: In multiple-zone pricing, a firm divides its selling territories into geographic areas or zones. the delivered price to all buyers within any one zone is the same, but prices across zones vary depending on the transportation cost to the zone and the level of competition and demand within the zone.
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175. Another name for freight-absorption pricing is __________.

a) FOB factory

b) postage stamp pricing

c) FOB with freight-allowed pricing

d) basing-point pricing

e) FOB origin pricing

Ans: c
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176. With __________, the buyer is allowed to deduct freight expenses from the list price of the goods. The seller pays the transportation costs.

a) FOB factory

b) basing-point pricing

c) postage stamp pricing

d) FOB origin pricing

e) FOB with freight-allowed pricing

Ans: e
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177. For which of the following products is its manufacturer or producer most likely to use basing-point pricing?

a) Pet food

b) Furniture

c) Crystal glass bowls

d) Cut flowers

e) Coal

Ans: e

Feedback: Basing-point pricing is commonly used in industries where freight expenses are a significant part of the total cost to the buyer and the products are largely undifferentiated.
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178. __________ involves selecting one or more geographical locations from which the list price for products plus freight expenses are changed to the buyer.

a) FOB origin pricing

b) Single-zone pricing

c) Basing-point pricing

d) Multiple-zone pricing

e) Postage stamp pricing

Ans: c
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179. Which of the following statements about deceptive pricing practice is true?

a) Buy 1 get 1 free is an example of “Bait and switch” 

b) Bargains conditional on other purchases refer to a firm offering a very low price on a product. 

c) Consumers are protected from all deceptive pricing practices 

d) Laws cannot be passed and enforced to protect consumers and competitors against all of these practices 

e) Offering products and services for free is not considered a deceptive pricing practice. 

Ans: d

Feedback: Buy 1 get 1 free is an example of “Bargains conditional on other purchases.” Offering a very low price on a product is a form of “Bait and switch.” Laws cannot be passed and enforced to protect consumers and competitors against all of these practices and “free” services is a subtle deceptive pricing. 

Page: 396-397, figure 14-9

Learning Objective: 4

180. Conspiracy among firms to set prices for a product is called __________.

a) price discrimination

b) price fixing

c) predatory pricing

d) Tying arrangements

e) exclusive dealing

Ans: b
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181. Price fixing is __________.

a) an arrangement a manufacturer makes with a reseller to handle only its products and not those of a competitor

b) the practice of charging a very low price for a product with the intent of driving competitors out of business

c) the practice of charging different prices to different buyers for goods of like grade and quality

d) a conspiracy among firms to set prices for a product

e) a seller's requirement that the purchaser of one product also buy another product in the line

Ans: d
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182. Johnson, the manager of a discount consumer electronics store, has been approached by the manufacturer of a popular and profitable line of compact disk storage racks regarding the retail price charged for the racks at Johnson's store. The manufacturer's representative has implied that if Johnson doesn't raise the retail prices for the storage racks to those charged by the manufacturer's non-discount customers, Johnson's supply of racks may be severely curtailed. The manufacturer is guilty of attempting __________.

a) horizontal price-fixing

b) resale price maintenance

c) price discrimination

d) predatory pricing

e) bait and switch pricing

Ans: b

Feedback: Resale price maintenance (also called vertical price fixing), illegal since 1975, involves controlling agreements between independent buyers and sellers whereby sellers are required not to sell products below a minimum retail price.
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183When two or more competitors explicitly or implicitly set prices, this practice is called __________.

a) horizontal price fixing

b) vertical price fixing

c) competitive price fixing

d) diagonal price fixing

e) explicit price fixing

Ans: a
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184. __________ involves controlling agreements between independent buyers and sellers whereby sellers are required to not sell products below a minimum retail price.

a) Horizontal price fixing

b) Vertical price fixing

c) Competitive price fixing

d) Independent price fixing

e) Explicit price fixing

Ans: b
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185. In one of its least favorite actions, Amazon.com was caught fiddling with its price tags. Avid videodisc shoppers found that the online store was offering different customers different prices for the same DVD and complained vociferously. Amazon was caught red-handed. It was, company officials admitted, trying to see how much it could charge for an item before shoppers balked. No matter what the reasoning behind it, Amazon.com was using __________.

a) horizontal price-fixing

b) resale price maintenance

c) price discrimination

d) predatory pricing

e) bait-and-switch pricing

Ans: c

Feedback: Price discrimination is the practice of charging different prices to different buyers for goods of like grade and quality.
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186. Price discrimination is __________.

a) an arrangement a manufacturer makes with a reseller to handle only its products and not those of a competitor

b) the practice of charging a very low price for a product with the intent of driving competitors out of business

c) the practice of charging different prices to different buyers for goods of like grade and quality

d) a conspiracy among firms to set prices for a product or service

e) a seller's requirement that the purchaser of one product also buy another product in the line

Ans: c
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187. According to the text, the Federal Trade Commission (FTC) is especially concerned about the __________.

a) overuse of FOB origin pricing

b) misuse of quantity discounting

c) elimination of seasonal discounts

d) widespread use of fixed pricing

e) misuse of the word "free" in promotions

Ans: e

Feedback: Going Online points out that advertisers must take extreme care in using the word free in their promotions so as to avoid any possibility that consumers will be misled or deceived.

Page: 396-397

Learning Objective: 4

188. Which of the following statements about predatory pricing is true?

a) Predatory pricing is the practice of charging a very low price for a product. 

b) Predatory pricing serves the purpose of driving competitors out of business. 

c) Predatory pricing is illegal under anti-competition regulations. 

d) It is hard to prove the presence of predatory pricing. 

e) All of the above statements about predatory pricing are true. 

Ans: e

Feedback: Predatory pricing is the practice of charging a very low price for a product with the intent to drive competitors out of business. It is illegal under anti-competition regulations. It is hard to prove the presence of predatory pricing because it must be shown that the predator explicitly attempted to destroy a competitor and the predatory price was below the defendant’s average cost. 
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189. A home appliance store advertises a 40 inch Panasonic LCD for S$800. You enter the store intending to purchase the Panasonic LCd) The salesperson informs you that they are all sold out. She tells you that the "sale" Panasonic LCDs were factory seconds and that if you want the best quality picture, you should buy the Sony Bravia, which sells for S$1000. This scenario has elements of which type of deceptive pricing?

a) Comparable value comparisons

b) Former price comparisons

c) Comparisons with suggested prices

d) Conditional bargains

e) Bait and switch

Ans: e

Feedback: This scenario has all the elements of bait and switch. Bait and switch is a deceptive practice whereby a firm offers a very low price on a product (the bait) to attract customers to a store. Once in the store, the customer is persuaded to purchase a higher-priced item (the switch) using a variety of tricks, including (1) downgrading the promoted item, (2) not having the item in stock or (3) refusing to take orders for the item. In the question the store offers a product at a low price is out of stock on the product, the salesperson tells you that the sale item was of inferior quality and attempts to get you to buy a higher-priced model.
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190. A radio ad warned customers to "not fall prey to bait-and-switch schemes". The ad was telling potential customers to __________.

a) report services that violate the anti-competition regulations.

b) be wary of brake repair services that are priced low because the services may try to sell customers a much higher priced service once the customer enters the store

c) avoid doing businesses with services that have initiated a conspiracy among firms in its industry to set prices for a product or service

d) not do business at services that have arranged with a particular manufacturer that they will only buy from this manufacturer and from no other

e) Avoid doing business with monopolistic competitors who are trying to start a price war

Ans: b

Feedback: Bait and switch is a deceptive practice whereby a firm offers a very low price on a product (the bait) to attract customers to a store. Once in the store, the customer is persuaded to purchase a higher-priced item (the switch) using a variety of tricks, including (1) downgrading the promoted item, (2) not having the item in stock or (3) refusing to take orders for the item.
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191. To promote their business, some psychics advertise free tarot-card readings and other insights into their customers' futures on television. Unfortunately, this "free reading" has cost some unsuspecting callers as much as $700 in phone charges. This sort of deceptive pricing practice would be primarily monitored by the __________.

a) consumer Protection Agency

b) department of Justice

c) federal Trade Commission

d) communications Commission

e) telecommunications Commission

Ans: c

Feedback: Price deals that mislead consumes fall into the category of deceptive pricing. Deceptive pricing is outlawed by the Federal Trade Commission Act. The FTC monitors such practices.
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192. Which of the following statements about geographical pricing is true?

a) Geographical pricing is one type of pricing that has never fallen under the scrutiny of any country’s legal system

b) FOB origin pricing is legal

c) Geographical pricing has come under more government scrutiny than any other pricing policy

d) FOB freight-allowed pricing practices are illegal

e) Basing-point pricing is the only form of geographical pricing that is not under some type of legal restriction

Ans: b

Feedback: Basing-point pricing may be viewed as illegal under anti-competitive regulations. Just like FOB origin pricing, FOB freight-allowed pricing practices are legal. For the most part, geographical pricing has been immune to legal and regulatory restrictions, except in those instances in which a conspiracy to lessen competition exists.
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193. __________ is the practice of changing a very low price for a product with the intent of driving competitors out of business.

a) Price fixing

b) Price discrimination

c) Predatory pricing

d) Deceptive pricing

e) Geographical pricing

Ans: c
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194. India accused that many firms of China intentionally lowered their cost so that they could drive out Indian companies in India to gain larger market share. China firms are being accused of _____________.

a) price fixing

b) price discrimination

c) predatory pricing

d) deceptive pricing

e) pricing constraints

Ans: c

Feedback: Predatory pricing is the practice of charging a very low price for a product with the intent of driving competitors out of business. 
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195. Predatory pricing is __________.

a) an arrangement a manufacturer makes with a reseller to handle only its products and not those of a competitor

b) the practice of charging a very low price for a product with the intent of driving competitors out of business

c) the practice of charging different prices to different buyers for goods of like grade and quality

d) a conspiracy among firms to set prices for a product or service

e) a seller's requirement that the purchaser of one product also buy another product in the line

Ans: b
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196. Andrew owns dozens of very successful print shops. His shops specialize in low cost black and white copies and feature user-friendly machines consumers can easily operate. Recently, Andrew has noticed many more competitors in the areas where his stores are located. In an attempt to eliminate the competition, Andrew has decided to charge a very low price for his black and white copies, a price so low his competitors will be forced out of business. After the competition has been driven out, Andrew plans to raise the price of his copies. Andrew is planning to engage in the illegal practice of __________.

a) price fixing

b) price inflation

c) predatory pricing

d) competitive pricing

e) price flighting

Ans: c

Feedback: Predatory pricing is the practice of charging a very low price for a product with the intent of driving competitors out of business. 
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197. When considering whether to reduce the price of the Zantek PCB from S$6.30 to S$ 5.80, he was concerned that the volume ordered by Zantek was not high enough for the company to realize substantial labor savings. Which of the following method pricing is Mr. Lim using? 

a) Competition-oriented

b) Profit-oriented

c) Demand-oriented

d) Cost-oriented 

e) Experience-oriented

Ans: d

Feedback: Labor cost is a component of cost-oriented pricing strategy. Here Mr. Lim is concerned about the cost. 
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198. In the DVD industry, consumer behavior and consumption characteristics in China differ across the regions. Consumers in North China pay more attention to brand, quality, and service. Consumers in East China are not so sensitive to the price, but care more about brand image and product functions. Consumers in Southwest and Northwest China are more practical and more concerned about price. Which of the following is Zantek’s pricing strategy focusing on? 

a) Competition-oriented

b) Profit-oriented

c) Demand-oriented

d) Cost-oriented 

e) Experience-oriented 

Ans: c

Feedback: The process of considering consumer’s behavior and characteristics is a part of demand-oriented pricing strategy. 
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Short Answer

199. When is skimming pricing an effective strategy? 

Ans: Skimming pricing is an effective strategy when:

(1) enough prospective customers are willing to buy the product immediately at the high initial price to make those sales profitable

(2) the high initial price will not attract competitors

(3) lowering price has only a minor effect on increasing the sales volume and reducing unit costs

(4) customers interpret the high price as signifying high quality.
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200. What are the four common approaches used by managers to help them find an approximate price level? 

Ans: Four common approaches to helping find this approximate price level are:

(1) demand-based

(2) cost-based

(3) profit-based

(4) competition-based methods.
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201. What are the conditions favoring the use of penetration pricing? 

Ans: The conditions favoring penetration pricing are the reverse of those supporting skimming pricing and are:

(1) many segments of the market are price sensitive

(2) a low initial price discourages competitors from entering the market

(3) unit production and marketing costs fall dramatically as production volumes increase.
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202. Explain why odd-even pricing may be successful. 

Ans: Odd-even pricing presumes that customers when looking at an item marked $299.99 will see the price as something over $200 rather than about $300. In theory, demand increases if the price drops even by 1 cent. There is some evidence to suggest this does happen. However, research suggests that overuse of odd-ending prices tends to mute its effect on demand.
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203. What is experience curve pricing? 

Ans: experience curve pricing is based on the learning effect, which holds that the unit cost of many products and services declines by 10 percent to 30 percent each time a firm's experience at producing and selling them doubles. This reduction is regular or predictable enough that the average cost per unit can be mathematically estimated.
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204. What is a loss-leader and why is it used by retailers? 

Ans: For a special promotion many retail stores deliberately sell a product below its customary price to attract attention to it. The purpose of this loss-leader pricing strategy is not to increase sales of the specific advertised product, but to attract customers in hopes they will buy other products as well, particularly discretionary items carrying large markups.
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205. What is the difference between a one-price policy and a flexible-price policy? 

Ans: a one-price policy is setting one price for all buyers of a product or service. In contrast, a flexible-price policy involves setting different prices for products and services depending on individual buyers and purchase situations. A flexible-price policy gives sellers considerable discretion in setting the final price in light of demand, cost and competitive factors.
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206. What are discounts? List the four kinds that are especially important in marketing pricing strategy. 

Ans: discounts are reductions from list price that a seller gives a buyer as a reward for some activity of the buyer that is favorable to the seller. Four kinds of discounts are especially important in marketing strategy. They are:

(1) quantity discounts

(2) seasonal discounts

(3) trade (functional) discounts

(4) cash discounts.
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207. What is the difference between noncumulative and cumulative quantity discounts? 

Ans: Noncumulative quantity discounts are based on the size of an individual purchase order. They encourage large individual purchase orders, not a series of orders. Cumulative quantity discounts apply to the accumulation of purchases of a product over a given time period, typically a year. They encourage repeat buying (loyalty) by a single customer.
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208. What are the two general methods for quoting prices related to transportation costs? Explain how each is used. 

Ans: The two general methods for quoting prices related to transportation costs are:

FOB origin pricing and uniform delivered pricing.

FOB means "free on board" some vehicle at some location, which means the seller pays the cost of loading the product onto the vehicle that is used (such as a barge, railroad car or truck). FOB origin pricing usually involves the seller naming the location of the loading as the seller's factory or warehouse.

When a uniform delivered pricing method is used, the price the seller quotes includes all transportation costs. The four kinds of delivered pricing methods are:

-single-zone pricing

-multiple-zone pricing

-FOB with freight allowed pricing

-basing-point pricing.
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209. (p. 395) Define the four kinds of uniform delivered pricing methods and give an example of the use of each. 

Ans: The four kinds of delivered pricing methods are (1) single-zone pricing, (2) multiple-zone pricing, (3) FOB with freight-allowed pricing and (4) basing-point pricing.

In single-zone pricing all buyers pay the same delivered price for the products, regardless of their distance from the seller. A retail store offering free delivery in a metropolitan area is an example.

In multiple-zone pricing a firm divides its selling territory into geographic areas or zones. The delivered price to all buyers within any one zone is the same, but prices across zones vary depending on the transportation cost to the zone and the level of competition and demand within the zone. Many postal services use multiple-zone pricing for mailing certain packages. This system is sometimes used in setting prices on long-distance phone calls.

With FOB with freight-allowed pricing, the price is quoted by the seller as "FOB plant—freight allowed". The buyer is allowed to deduct freight expenses from the list price of the goods, so the seller agrees to pay or "absorb", the transportation costs. This often happens in shipments from the manufacturer (plant) to the wholesaler or retailer's warehouse.

Basing-point pricing involves selecting one or more geographical locations (basing point) from which the list price for products plus freight expenses are charged to the buyer. Basing-point pricing methods have been used in the steel, cement and lumber industries where freight expenses are a significant part of the total cost to the buyer and products are largely undifferentiated.

Page: 395

Learning Objective: 3

210. What are the five most common deceptive pricing practices? Give an example of each one. 

Ans: The five most common deceptive pricing practices are:

Bait and Switch. Example: Advertising a very low price on a microwave oven to attract customers to the store but persuading them to buy a more expensive model by

(a) ridiculing the advertised model or (b) not having the advertised model in stock.

Bargains Conditional on other Purchases. Example: A "Buy 1, Get 1 Free" offer is made on paint. However, the price of the first can of paint is inflated to include the price of the "free" can of paint.

Comparable Value Comparisons. Example: When a merchant claims "Retail Value $100.00, Our Price $85.00", even though the area market price is less than $100.

Comparisons with Suggested Prices. Example: A claim that a price is below a manufacturer's suggested price even though few (if any) sales are made at the suggested price.

Former Price Comparisons. Example: A seller offers a "reduced" price when the previous price was offered only for a short period or was deliberately set high to establish a reference point.

Page: 397, figure 14-9

Learning Objective: 4

211. Explain predatory pricing. 

Ans: Predatory pricing is the practice of charging a very low price for a product with the intent of driving competitors out of business. Once competitors have been driven out, the firm raises its prices. This practice is illegal under anti-competition regulations. Proving the presence of this practice has been difficult and expensive because it must be shown that the predator explicitly attempted to destroy a competitor and the predatory price was below the defendant's average cost.

Page: 397

Learning Objective: 4

212. Explain the differences in the last three steps in setting price. 

Ans: Step 4 is select an approximate price level. In this step the decision-maker must choose between demand-oriented approaches, cost-oriented approaches, profit-oriented approaches and competition approaches.

In step 5, the list or quoted price is set. In this step the decision-maker must examine whether to use one price or flexible pricing, the effects of company, customer and competition and incremental costs and revenue.

Finally the last step is to make special adjustments to list or quoted price such as discounts, allowances and geographical adjustments.

Page: 378, figure 14-1

Learning Objective: 1

213. List four of the demand oriented approaches to selecting an approximate price level. 

Ans: demand-oriented approaches include: skimming, penetration, prestige, price lining, odd-even, target, bundle and yield management.

Page: 379, figure 14-2

Learning Objective: 1

214. Give an example of yield management pricing and explain why it is used. 

Ans: Yield management pricing is charging different prices to maximize revenue for a set amount of capacity at any given time. Airlines, hotels, cruise ships and car rental companies frequently use it to match demand and supply.

Page: 381

Learning Objective: 1

215. What is standard markup pricing and when would it be used? 

Ans: Standard markup pricing entails adding a fixed percentage to the cost of all items in a specific product class. It is used in supermarkets and other retail stores that have such a large number of products that estimating the demand for each product as a means of setting price is impossible.

Page: 382

Learning Objective: 1

216. What are three special adjustments to list or quoted price? 

Ans: Three special adjustments to list or quoted price include discounts, allowances and geographical adjustments. Each can substantially change the final price.

Page: 392, figure 14-6

Learning Objective: 3
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